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Sl. No.1
QBID:1555051

Tdentify the correct preposition for making a meaningful sentence.

The detectives found that the victim was stabbed the neck.
(1) on

(2) to

(3) m

(4) at

EEEEEIA BN T RICA R
(1) THH

() ghid

(3) 9gf

(4) HIART

1[Option ID=31301]

2[Option ID=31302]

3[Option ID=31303]
4[Option ID=31304]

Sl. No.2
QBID:1555052

Identify meaning of the underlined idiom from the options given.

The students were beaten black & blue by the people of the nearby region because of the protest.
(1) to shout loudly

(2) to beat mercilessly

(3) to curse rudely

(4) to abuse repeatedly

[T Sl BT SR B GHY Bhs! 4 [Haa- arall arg W= 3 Uyl & 91y Hed 36 1 $8d § 2
(1) IfE e

(2) Oy ol

(3) 3y AT

(4) 3 ol

1[Option ID=31345]
2[Option ID=31346]
3[Option ID=31347]
4[Option ID=31348]

Sl. No.3
QBID:1555053

Choose the correct option to make a meaningful sentence.

My mother wears sarees but last time when I her, she salwar suit.
(1) saw, was wearing

(2) Saw, worn

(3) seeing. is wearing

(4) see, wear




qUIATET & SHR Wsg] 3T I HA S -

AT
B.T3R
c.did
D. THH
E. 3YUR

i faU U faPpedl § ¥ Hal 3R &1 994 Bifoiu:
(1) B.A.D.C
(2) D.E.B.C
3) EED.A.B
@ C.AE.D

1[Option ID=31373]
2[Option ID=31374]
3[Option ID=31375]
4[Option ID=31376]

Sl. No.4
QBID:1555054

Tdentify the correctly spelt word from the options given below:
(1) Benedicton

(2) Bereavment

(3) Belicose

(4) Blasphemous

el 1P 1Y G 11 BT fHe= Hifeg
a1 T
(X=2) (™)

ENET) I

Fre-faar L[S/t §Hr

Ugadt 11 [dgdife gar™
AfcifeT V. |68 9919

i fGU U fadhedi T T Hal SR &1 994 Bifoig:
(1) A-IL B-IV, C-IIL, D-I
(2) A-IL B-II. C-IV. D-III
(3) A-IV, B-1, C-III, D-II
(4) A-IIL B-IV, C-I, D-II

o[ o= =

1[Option ID=31377]
2[Option ID=31378]
3[Option ID=31379]
4[Option ID=31380]

Sl. No.5
QBID:1555055

Tdentify antonym for the underlined word in the sentence.

The child was set free after his parents paid the ransom.
(1) abducted

(2) ransacked

(3) freedom

(4) seized




1 1S 1Y Gl 11 BT o= Hifeg

A1 Ha I

=) RG]
N . [GYd R
B. [&d 1. [faes 2
C. [ars L [dcdH Tleg
D. [ORE V. [G=rol el

i fGU U fdedl O T Te1 SR &1 994 BHifoig:
(1) A-IIL B-I. C-IV, DI

(2) A-L. B-IV. C-II. D-III

(3) A-IL B-IIL C-I, D-IV

(4) A-IV, B-L, C-III, D-II

1[Option ID=31381]

2[Option ID=31382]

3[Option ID=31383]
4[Option ID=31384]

Sl. No.6
QBID:1555056

Tdentify the correct passive voice for the sentence given below :

The thief stole several possessions from the house. Even the fridge has been emptied.

(1) Several possessions were stolen from the house by the thief. Even the fridge he has emptied.
(2) Several possessions were stolen from the house by the thief. Even the fridge was emptied.
(3) Including the fridge, several possessions from the house have been emptied by the thief.

(4) The thief being stolen several possessions from the house, also fridge has been emptied.
{49 # 8 s 2eq JHE D198 DI |

A. XY, fawg, 49, BUl

B. WU, BI04, gfd. T

C. I, yay, Afcat. e

D. 3Y, TUA1, HarAl, g

E. 3691, gargdl, goi-iid. g

i fU U fddhedl 1 ¥ Hal 3R &1 994 Bifoig:
(1) C.E.D.A

(2) B.ALE.C

3) A.C.B.E

@) C.B.E.A

1[Option ID=31385]

2[Option ID=31386]

3[Option ID=31387]
4[Option ID=31388]

Sl. No.7
QBID:1555057

Identify the correct indirect speech for the sentence given below:
Rajesh said, "Dr. Babasaheb Ambedkar was born in Mhow. Madhya Pradesh".

(1) Rajesh told that Dr. Babasaheb Ambedkar had born in Mhow. Madhya Pradesh.

(2) Rajesh asked that Dr. Babasaheb Ambedkar born in Mhow, Madhya Pradesh.

(3) Rajesh suggested that Dr. Babasaheb Ambedkar is born in Mhow. Madhya Pradesh.
(4) Rajesh said that Dr. Babasaheb Ambedkar was born in Mhow, Madhya Pradesh.




5 1 O 9ol yafuardl 2es g ®1 90 DI |

A. OTd - fera, g1, AR, oadl
B. AIATE - I3, YRR, d1d. d&HT
C. ST - @4, 3R, S, [aflgT

D. Wl - U, R, yafd, g
E. a9 - gip, SR, a1k, axad
i fGU U faPpedl § ¥ Hal 3TR &1 994 Bifoiu:
(1) $aT A, C.B.D
(2) $AAC.A.D.E
(3) BIAE.A.D.C
(4) $aU D, C.B.E

1[Option ID=31389]
2[Option ID=31390]
3[Option ID=31391]
4[Option ID=31392]

Sl. No.8
QBID:1555058

Choose the correct order of the paragraph to create a meaning out of PQRS set :
Saussure stressed

P:in a language's structure and maintained

Q : the interaction at any one time of elements

R : in a network of relations

S : that these were interrelated
(1) RSQP
(2) PSRQ
(3) QPSR
(4) SRPQ

fafaRed d g aa ©:
A. ﬂﬁ?&g@ﬁ?@ﬁz
B. HJRR UG R |
. ¥ yicay Rar siar g |
D. GH®! 3T9P! a1d e el 4 |
E. QA g gl R U us §l |
=9 fau e fasedl & ¥ gad Suged SR &1 99 PIog:
(1) $AAA,B.C
(2) HAAB.C.D
(3) $aWB.C.E

(4) FTAA.C.D

1[Option ID=31393]
2[Option ID=31394]
3[Option ID=31395]
4[Option ID=31396]

Sl. No.9
QBID:1555059

Choose the correct sentence.
(1) I hope you will excuse me leaving early.

(2) I hope you will excuse my leaving early.
(3) I hope you will excuse mine leaving early.

(4) I hope you will excuse leaving early.




el 1 P 1Y Gl 11 BT fHe Hifeg

T T e I
A R epAae | [@age e
B_|[H1@ TR 1. [[hdl & 32N G gaT
C. [37Teil U2 ATl T [ETe- = 3]
D AR W@ e [IV. [FR & (o0 oOR &1
e 14U 7T fodedl I 9 8l O &1 99 DI

(1) A-IL B-IV, C-II, D-I
(2) A-IV.B-III, C-II. D-I
(3) A-II B-III C-IV. D-I
(4) A-L B-II, C-IIL D-IV
1[Option ID=31397]
2[Option ID=31398]

3[Option ID=31399]
4[Option ID=31400]

Sl. No.10
QBID:15550510

Find out which part of the sentence has an error.

(1) With the demand for more working hours.

(2) people are awake till late at night and

(3) indulge in more junk food than home-cooked food.

(4) No Error

el 1o 1Y Gl 11 BT e Sy

FqA I T
A [ofH DI gad 3= L [eHiE
B. [ A @1 3951 6l I [gad
C. [ofl 9% Pio-Ts & UId &l 1. o=y
D. [[Srge! & H BT 8l Nl EEIEE

Htd fU U fa@edl d T gl SR &1 994 Bifoig:
(1) A-IIL B-IV, C-I, D-II

(2) A-L B-II, C-IIL, D-IV

(3) A-IL, B-III, C-IV, D-I

(4) A-IV, B-IIL, C-II, D-I

1[Option ID=31305]

2[Option ID=31306]

3[Option ID=31307]
4[Option ID=31308]

Sl. No.11
QBID:15550511

Who among the following was an Indian American biochemist who shared the 1968 Nobel Prize for Physiology or Medicine with
Marshall W. Nirenberg and Robert W. Holley for research that showed the order of nucleotides in nueleie acids. which carry the genetic
code of the cell and control the cell's synthesis of proteins ?

(1) Visvesvaraya

(2) Meghnad Saha

(3) 5.N.Bose

(4) Har Gobind Khurana

fafaRad § 9 $H-91 ' YR e SlavarsH fagr ¢ o Rl & &= 3 T 9= a1a 1068 & A19d RER $1 A1Lid
ey AR 37R aE Seeg BId &A1Y Wi fohal forTenT fawg & U gl © fob gfaeisre st H feaierss &l oA, ol i
DIADT & HAIRD DT Bl dg- BAl § AR UICH b HIADT & YA B U Bl 6 2

(1) g

(2) HyTg 98l
(3) TH. .99
@) gmfee e




1[Option ID=31309]
2[Option ID=31310]
3[Option ID=31311]
4[Option ID=31312]

Sl. No.12
QBID:15550512

India's first National Sport University is located in which of the following State/Union Territory of India ?

(1) Delhi
(2) Goa
(3) Manipur
(4) Haryana

YR & FEfeiad # A &1H-3 I7o0/49 U &7 § HRd &1 9YH AP1y Wa fayfaercy saffdae 2
1) feett

(2) Tar

(3) TR

(4) giegmn

1[Option ID=31313]
2[Option ID=31314]
3[Option ID=31315]
4[Option ID=31316]

Sl. No.13
QBID:15550513

Security Printing and Minting Corporation of India Limited (SPMCIL) has set up two new bank note printing lines which are located in :
(1) Nepanagar and Salboni

(2) Dewas and Nepanagar

(3) Salboni and Hoshangabad

(4) Nashik and Dewas

YRl wfafa gEor e dae e fafies @adieaiiensee) 5 < 4t 9§ Aie fife ag-g wifia @1 § a ogf W safa g 2
(1) YR AR Iredi=]

(2) T IR TR

(3) Fresi 3R SILAEE

(4) T 3R Ay

1[Option ID=31317]
2[Option ID=31318]
3[Option ID=31319]
4[Option ID=31320]

Sl. No.14
QBID:15550514

Which country is the largest sharcholder of ATIB (Asian Infrastructure Investment Bank) ?
(1) Germany

(2) France

(3) China

(4) India

S0 O DH-1 o¥ TS 3TRal (TR SauRdH HaY §F) & 964 891 JURT § 2
(1) St

(2) Hig

(3) =g

(4) HRd

1[Option ID=31321]
2[Option ID=31322]
3[Option ID=31323]
4[Option ID=31324]

Sl. No.15
QBID:15550515

Which of the following 1s TRUE about the Preamble to the Constitution of India ?




(1) 4294 Amendment to the Constitution added words Secular and Socialist to the preamble.

(2) B.R. Ambedkar wrote the Preamble of Constitution of India.
(3) The Preamble was added to the Constitution after the enactment of Constitution itself.
(4) The Preamble has been amended twice since the enactment of the Constitution.

YR HayE &1 wae & R 4 Fedfad d S &g 2

(1) 42 § G TeY R S5 § 9y FRUef 3R JHSae] eg ofle T |
(2) I 3R, FSH 7 YR D HIGU B Ieiere! ol |

(3) Iigy H Ie¥wr dlaa™ & fUHgea & gy siiol T |

(4) TR H HauH & AR gH & &8 9 &l SR SR [T |

1[Option ID=31325]
2[Option ID=31326]
3[Option ID=31327]
4[Option ID=31328]

Sl. No.16
QBID:15550516

In a row of girls. Roopa is 7% from the left while Sunita is 12 from the right. On interchanging their respective positions, Roopa
becomes 227 from the left. How many total number of girls are there in the row ?

(1) 35

(2) 33

(3) 38

(4) 37

Asiodl &1 Ue Ufdd § wurard 9 7d it alfes 9 128 ™A R E | &F1 & 3199 H 0 976 dao- )R &9 818 9 224 /A R
I § | 39 U § asfEdl 3 ga v e g

(1) 35
(2) 33
(3) 38
(4) 37

1[Option ID=31329]
2[Option ID=31330]
3[Option ID=31331]
4[Option ID=31332]

Sl. No.17
QBID:15550517

In a row of people Anamika 1s oM from the left and Urvashi is 13™ from the right. When they change their positions and then Anamika
becomes 18 from the left. What is the new position of Urvashi from the right end of the row ?

(1) 23

(2) 221

(3) 24

(4) 25

AT BT U Ufad | ST a6 ¥ od AR AW A T 138 AR E | 99 d 09 § ™H 929 ddl & af SIS a8 T 188 -E
R 3 911 8 | Ui & e AR A Safl s A S A g 2

(1) 23

(2) 22

(3) 24

(4) 25

1[Option ID=31333]
2[Option ID=31334]

3[Option ID=31335]
4[Option ID=31336]

Sl. No.18
QBID:15550518

In a row of boys. if Akash is 10" from left and Bimal is 9™ from the right. When they interchange their positions, then Akash becomes
15™ from the left. How many boys are there in the row ?

(1) 22

(2) 25

(3) 23




(4) 26

TSH! B! U UG 1, MBI a4 F 108 3R FAa e Y od WH R T | 96 d 399 H 39+ o7 9od dd & df R 9 ¥ 15
RFEA R A5 | W o fva s g 2

(1) 22

(2) 25

(3) 23

(4) 26

1[Option ID=31337]

2[Option ID=31338]

3[Option ID=31339]
4[Option ID=31340]

Sl. No.19
QBID:15550519

IL.K.H.R.F. L. N & Q are sitting around a circular table facing the center. H is third to the left of L. who is the immediate right of K. R is
third to the left of N but not neighbour of H or L. J is second to the right of Q. Who is second to the left of N 7

1) Q
(2) Forl
3) 7
4 K

L.K.H.R.F.L.N 3R Q U& quHR ¢6d & IRl SR $5 &I AR Yg IRb 46 5 | L & alg IR AR WH IR H g | K & g alig
%%’ INS TR ARTN A RREAGIIGHAIL BIUSHI A6l g | QP &Il AR GM VM WIE | N & g1 G ®”IH R B

1 Q

(2) FOIN

3) 7

4 K

1[Option ID=31341]
2[Option ID=31342]

3[Option ID=31343]
4[Option ID=31344]

Sl. No.20
QBID:15550520

A B.C.D.E.F G and H are players sitting around a round table facing the centre. D is the neighbour of A but not of H. B is the
neighbour of F and 4 t0 the left of D. E is the neighbour of H and 31 to the right of F. C is neither the neighbour of A nor of G.

Which of the following is correct.
(A) B is to the immediate left of H.
(B) H 1s to the immediate left of E.
(C) D is 4th to the right of F.

(D) H is immediate right of E.
(1) only A and B

(2) only AandC

(3) onlyBandC

(4) only A, BandC

Ue 7I1d ¢§d & 9] 3R A, B, C, D, E, F. G 3{R H [GeTS! &5 &1 3R 4 & 86 ¢ | D, ADI U5 ¢ df H Pl 78] | B,F &l
e e R D F ST A WA RE IEH B IS e R FF e IR A RE I CTT AT USRI T IRAGHT |

AHPRAIIBT |
BED RATUHE |
CTHEUAIRHERDE |
D.ES QR BIHT |

4 feg e foe el o § 98 3ugad S &1 989 ST

(1) HITARB
() FHagaRC




(3) HIAB AR C
(4) HAAA. B IR C

1[Option ID=31349]
2[Option ID=31350]
3[Option ID=31351]
4[Option ID=31352]

Sl. No.21
QBID:15550521

In a plane. there are 16 non-collinear points. Then the number of straight lines formed is
(1) 24

(2) 30

(3) 60

(4) 120

fepelt gHdd W) 16 TR-IRE fdg & ag wieh wanef &t d@m fa gt 2
(1) 24

(2) 30

(3) 60

(4) 120

1[Option ID=31353]

2[Option ID=31354]

3[Option ID=31355]
4[Option ID=31356]

Sl. No.22
QBID:15550522

A student has to score 30% marks throughout. If he gets 30 marks and fails by 30 marks. then the maximum marks set for the examination
18

(1) 100

(2) 150

(3) 200

(4) 400

fepht faemelt &1 Siivl 819 8 UIiis &7 30% 37 Ui &1 ¢ | afe a8 30 3i% UTaT & di 98 30 3P T 39%d ol Wl 5, 94 TSIl &
fo1u it an fea sie RuiRa fea M g |

(1) 100

(2) 150

(3) 200

(4) 400

1[Option ID=31357]

2[Option ID=31358]

3[Option ID=31359]
4[Option ID=31360]

Sl. No.23
QBID:15550523

A man bought 20 cows in  200000. If the average cost of 12 cows is $ 12500, then the average cost of remaining cows will be ?
(1) F 6250
(2) F 6520
(3) ¥ 6025
(4) 7 6052

@5 ST 20 T BI 200000 FUU H Wiad § | A% 12 T HT {Gd T 12500 39U 81, 01 N 71 &1 SHd Hed 1 81 2
(1) 62503907
(2) 652034
(3) 6025 39T
(4) 6052 39T

1[Option ID=31361]
2[Option ID=31362]
3[Option ID=31363]
4[Option ID=31364]

Sl. No.24
QBID:15550524




A sum at simple interest of 13% % per annum amounts to # 3080 in 4 yr. then the sum is

¥4

(1) #3000
(2) ¥ 2000
(3) # 1000
(4) ¥ 2500

PIg AN 13

(1) 3000 3T
(2) 2000 ¥UT
(3) 1000 3T
(4) 2500 39T

1[Option ID=31365]
2[Option ID=31366]
3[Option ID=31367]
4[Option ID=31368]

% HIYRU TS &1 g2 T 4 91 T 3080 $TU S 9I1cil & | 98 YA &

1
2

Sl. No.25
QBID:15550525

The system of equation 2x + 4y + 16=0and 3x + 6y + 24 =01s
(1) Unique solution
(2) Infinitely many solutions

(3) Inconsistent
(4) Only two solutions

GHIERU DI UG 2x +4y + 16=Td 3x + 6y +24=0% |

(1) faRwea

(2) 339 H 3P 5d
(3) 3Hdd

(4) Padalgd

1[Option ID=31369]
2[Option ID=31370]

3[Option ID=31371]
4[Option ID=31372]

Sl. No.26
QBID:271635311

Al 8 Ol el alaS ey 53 S eyl g6 e
(1) =

(2) o3 #

(3) p3x s

(4) Sz

1[Option ID=36201]

2[Option ID=36202]

3[Option ID=36203]
4[Option ID=36204]

Sl. No.27
QBID:271635312

Gl e 23S dile U L g
(1) ool

(2) 5o

(3) Fe

(4) =85

1[Option ID=36245]
2[Option ID=36246]

3[Option ID=36247]
4[Option ID=36248]

Sl. No.28
QBID:271635313

2108l ) Ol aed G alas G A 5 g8




(1) ;’,I'_'\_ﬁl_: - J,g

(2) G-yl
(3) S5
(4) s~
1[Option ID=36289]
2[Option ID=36290]

3[Option ID=36291]
4[Option ID=36292]

Sl. No.29
QBID:271635314

vl u.-_'t"' -._'_<. ::|\_<. Crand L
1) Jg

(2) A=l

(3) G-jl

(4) o=

1[Option ID=36333]
2[Option ID=36334]
3[Option ID=36335]
4[Option ID=36336]

Sl. No.30
QBID:271635315
wkla = ‘__j'_".._"lj .;I).-II sl ,ﬁl—q J-:__‘J-_‘ )“I _,‘J)q‘..... uﬁ.‘j)

(1) b 2aal fp el

(2) sk sle

(3) o e

(4) el 5l
1[Option ID=36377]
2[Option ID=36378]

3[Option ID=36379]
4[Option ID=36380]

Sl. No.31
QBID:271635316

FEU Y] - o
o Jlise s gy

(4) ) o lia

1[Option ID=36421]
2[Option ID=36422]
3[Option ID=36423]
4[Option ID=36424]

Sl. No.32
QBID:271635317

"‘j-' S ..‘3.\'.&4‘. J-'_I'J-_‘ .‘-I)&:-.II AP
(1) S

(2) \.--“‘5“)5

(3) A%

(4) ==

1[Option ID=36465]

2[Option ID=36466]

3[Option ID=36467]
4[Option ID=36468]

Sl. No.33
QBID:271635318

> fang Iy :
Gl Te Al S A g
= s 29

(1) 5 b=l alllas




1[Option ID=36493]
2[Option ID=36494]
3[Option ID=36495]
4[Option ID=36496]

Sl. No.34
QBID:271635319

S e o b

(1) Sl paic sl

1[Option ID=36497]
2[Option ID=36498]
3[Option ID=36499]
4[Option ID=36500]

Sl. No.35
QBID:2716353110

[l I K W] Bl g e ;a'.ﬁ R e ge J\é M_....'..
(1) hsine o fie oy
(2) Pz
e '
(3) e e ) e

(4) gl iy

1[Option ID=36205]
2[Option ID=36206]
3[Option ID=36207]
4[Option ID=36208]

Sl. No.36
QBID:2716353111

alodi) (e S Lo G )1 el
al 0]y |y s 2kl A
] J@L: :alﬁ 3™ sl
(1) 5 o Sy
(2) st s
(3) s,
(4) 5o 5 A
1[Option ID=36209]
2[Option ID=36210]

3[Option ID=36211]
4[Option ID=36212]

Sl. No.37
QBID:2716353112

Gl el A€ Jhe Abaall Aloa 5 4
(1) i i

(2) & =

3) su#

(4) =

1[Option ID=36213]

2[Option ID=36214]

3[Option ID=36215]
4[Option ID=36216]

Sl. No.38
QBID:2716353113

Sl lag A e
(1) xe
(2)




s
(3) e
(4) 24~
1[Option ID=36217]
2[Option ID=36218]

3[Option ID=36219]
4[Option ID=36220]

Sl. No.39
QBID:2716353114

-)‘S_u. S )y
s g

1~

s a g
(1) =

(2) A&

(3) i o &

(4) v

1[Option ID=36221]

2[Option ID=36222]

3[Option ID=36223]
4[Option ID=36224]

Sl. No.40
QBID:2716353115

(1) =i

(2) p3sdisl

(3) el

(4) 122 5
1[Option ID=36225]
2[Option ID=36226]

3[Option ID=36227]
4[Option ID=36228]

Sl. No.41
QBID:2716353116

LA K] — '5-'!-'1 3 53l j.._“'s ;'.5 Bl slista

(1) ~2sl
(2) ~ilels
(3) ~#¥
(4) ~isia

1[Option ID=36229]
2[Option ID=36230]
3[Option ID=36231]
4[Option ID=36232]

Sl. No.42
QBID:2716353117

2558 e i pip S 55
(1) et

(2) o)

(3) s

(4) &

1[Option ID=36233]
2[Option ID=36234]

3[Option ID=36235]
4[Option ID=36236]

Sl. No.43
QBID:2716353118

G A Loal 5l
(1) =5
(2) b
(3) s

(4) Jie




1[Option ID=36237]
2[Option ID=36238]
3[Option ID=36239]
4[Option ID=36240]

Sl. No.44

QBID:2716353119
oS ]l KBl g e B g

- G

1) o=

(3) ¥

(4) Aaa

1[Option ID=36241]
2[Option ID=36242]
3[Option ID=36243]
4[Option ID=36244]

Sl. No.45
QBID:2716353120

Coa o gl 0 ) s msed IR
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(3) snf i
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1[Option ID=36249]
2[Option ID=36250]
3[Option ID=36251]
4[Option ID=36252]

Sl. No.46
QBID:2716353121
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(3) s pal 32al
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1[Option ID=36253]

2[Option ID=36254]

3[Option ID=36255]
4[Option ID=36256]

Sl. No.47
QBID:2716353122
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(1) A e

(2) g Sl sl

(3) Tha il

(4) slisl

1[Option ID=36257]

2[Option ID=36258]

3[Option ID=36259]
4[Option ID=36260]

Sl. No.48
QBID:2716353123

Gl allal fces gl ad
S e

(1) )_d.'ll ‘_’aa_..

(2) —adialds

(3) Nd O

(4) ~laall Ao

1[Option ID=36261]
2[Option ID=36262]
3[Option ID=36263]
4[Option ID=36264]

Sl. No.49




QBID:2716353124
250 ol gl U i s e gl

(1) <k b2 sdas s
(2) holady gaglan sy

(3) =b e yaaluaSo

(4) 22 gralon Sy
1[Option ID=36265]

2[Option ID=36266]

3[Option ID=36267]
4[Option ID=36268]

Sl. No.50
QBID:2716353125

il @ g a2 plall Bl g ot
(1) s

(2) =
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(3) b
(4) p5=

1[Option ID=36269]
2[Option ID=36270]
3[Option ID=36271]
4[Option ID=36272]

Sl. No.51
QBID:2716353126

S a g ) LY e il
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(2) Zpdl Jls
(3) pll Juen
(4) gl Jus
1[Option ID=36273]
2[Option ID=36274]

3[Option ID=36275]
4[Option ID=36276]

Sl. No.52
QBID:2716353127
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1[Option ID=36277]
2[Option ID=36278]

3[Option ID=36279]
4[Option ID=36280]

Sl. No.53
QBID:2716353128
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1[Option ID=36281]
2[Option ID=36282]
3[Option ID=36283]
4[Option ID=36284]

Sl. No.54
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1[Option ID=36285]
2[Option ID=36286]
3[Option ID=36287]
4[Option ID=36288]

Sl. No.55
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(2) s GUA
(3) Zolid liad

(4) S50
1[Option ID=36293]
2[Option ID=36294]
3[Option ID=36295]
4[Option ID=36296]

sI. No.56
QBID:2716353131
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(3) 23

(4) Sl g
1[Option ID=36297]
2[Option ID=36298]

3[Option ID=36299]
4[Option ID=36300]

Sl. No.57
QBID:2716353132
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1[Option ID=36301]
2[Option ID=36302]
3[Option ID=36303]
4[Option ID=36304]
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(2) J=ill 5
(3) £ e
(4) 528 yam g e LA

1[Option ID=36305]
2[Option ID=36306]
3[Option ID=36307]
4[Option ID=36308]

Sl. No.59
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(2) s 5 s
(3) & = g

(4) ) i Baia

1[Option ID=36309]




2[Option ID=36310]
3[Option ID=36311]
4[Option ID=36312]
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1[Option ID=36313]
2[Option ID=36314]

3[Option ID=36315]
4[Option ID=36316]

Sl. No.61
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1[Option ID=36317]
2[Option ID=36318]
3[Option ID=36319]
4[Option ID=36320]

Sl. No.62
QBID:2716353137
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(4) nE=l3

1[Option ID=36321]

2[Option ID=36322]

3[Option ID=36323]
4[Option ID=36324]

Sl. No.63
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1[Option ID=36325]
2[Option ID=36326]

3[Option ID=36327]
4[Option ID=36328]

Sl. No.64
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(4) 232 i
1[Option ID=36329]
2[Option ID=36330]

3[Option ID=36331]
4[Option ID=36332]

Sl. No.65
QBID:2716353140
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1[Option ID=36337]
2[Option ID=36338]

3[Option ID=36339]
4[Option ID=36340]

Sl. No.66
QBID:2716353141

Sl D gt alS 2 g el
(1) 2

(2) L

(3)

(4) 28 s

1[Option ID=36341]

2[Option ID=36342]

3[Option ID=36343]
4[Option ID=36344]
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1[Option ID=36345]
2[Option ID=36346]

3[Option ID=36347]
4[Option ID=36348]
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1[Option ID=36349]

2[Option ID=36350]

3[Option ID=36351]
4[Option ID=36352]
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1[Option ID=36353]

2[Option ID=36354]

3[Option ID=36355]
4[Option ID=36356]

Sl. No.70
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1[Option ID=36357]
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3[Option ID=36359]
4[Option ID=36360]
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1[Option ID=36365]
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2[Option ID=36370]
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1[Option ID=36373]
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3[Option ID=36375]
4[Option ID=36376]
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3[Option ID=36383]
4[Option ID=36384]
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1[Option ID=36385]
2[Option ID=36386]
3[Option ID=36387]
4[Option ID=36388]
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1[Option ID=36389]
2[Option ID=36390]
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1[Option ID=36393]
2[Option ID=36394]
3[Option ID=36395]
4[Option ID=36396]
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1[Option ID=36397]
2[Option ID=36398]
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1[Option ID=36401]

2[Option ID=36402]

3[Option ID=36403]
4[Option ID=36404]

Sl. No.81
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Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R:

Assertion A:

"

A e gl il gy Sog

Reason R:

| __,..:)'3 J:...'.:a J\JLI‘Q —ala J:-'L.: __nlf_ 3

In the light of the above statements. choose the most appropriate answer from the options given below:
(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A

(3) Ais correct but R 1s not correct

(4) A is not correct but R is correct

1[Option ID=36405]
2[Option ID=36406]
3[Option ID=36407]
4[Option ID=36408]

Sl. No.82
QBID:2716353157

Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:

. W& mie R — i
BT PR LR E_’-ﬂ}m e R s e e
Reason R:

In the light of the above statements, choose the most appropriate answer from the options given below:
(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A

(3) Ais correct but R is not correct

(4) Aisnot correct but R is correct

1[Option ID=36409]
2[Option ID=36410]
3[Option ID=36411]
4[Option ID=36412]

Sl. No.83
QBID:2716353158

Given below are two statements: one is labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A:

Wl e Aeshiie il hie

Reason R:

| LT _‘-'.hr- '|J-u_"u)l.‘- G s T Y e

In the light of the above statements. choose the most appropriate answer from the options given below:
(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A

(3) Ais correct but R is not correct

(4) A 1is not correct but R 1s correct

1[Option ID=36413]
2[Option ID=36414]




3[Option ID=36415]
4[Option ID=36416]

Sl. No.84
QBID:2716353159

Given below are two statements: one is labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A:

St 5&;31 BLAl __'..)J..-p; _‘}i ):...'.. = b__cL..r:Iil:-] e

Reason R:

In the light of the above statements. choose the most appropriate answer from the options given below:
(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correet but R is NOT the correct explanation of A

(3) Ais correct but R is not correct

(4) A 1is not correct but R 1s correct

1[Option ID=36417]
2[Option ID=36418]
3[Option ID=36419]
4[Option ID=36420]

Sl. No.85
QBID:2716353160

Griven below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:

“podl Bdgad aalls s woalatd e )
.\_....]b..}r_-_all_._lljl_’-.b).l:.dn_?l.u.— e

Reason R:

] g adald e 2l

In the light of the above statements. choose the most appropriate answer from the options given below:
(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A

(3) Ais correct but R is not correct

(4) A 1is not correct but R 1s correct

1[Option ID=36425]
2[Option ID=36426]
3[Option ID=36427]
4[Option ID=36428]

Sl. No.86
QBID:2716353161

Given below are two statements:
Statement I:
i) e YSE M) peaie il aali gl
Statement I1:
U AL ORI TS W [P S - St I

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT is incorrect




(4) Statement I is incorrect but Statement II is correct

1[Option ID=36429]
2[Option ID=36430]
3[Option ID=36431]
4[Option ID=36432]

Sl. No.87
QBID:2716353162

Given below are two statements:

Statement I:

3

BT .ﬂ.lr...-a _).}.d ;_.‘ ;mj.‘)é
Statement II:
.;_‘\S A).a.n I} Ma_'.._'. jl

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct
1[Option ID=36433]

2[Option ID=36434]

3[Option ID=36435]
4[Option ID=36436]

Sl. No.88
QBID:2716353163

Given below are two statements:
Statement I
A e plna U et ey
Statement I1:
A e gt | 3t s AT

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Beoth Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement II is correct
1[Option ID=36437]

2[Option ID=36438]

3[Option ID=36439]
4[Option ID=36440]

Sl. No.89
QBID:2716353164

Given below are two statements:

Statement I:

5

Al e M g ek gl
Statement II:
o c’+ij] ‘_',I.:;].'I ?'.Ell L jl

In the light of the above statements. choose the most appropriate answer from the options given below:
(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

1[Option ID=36441]




2[Option ID=36442]
3[Option ID=36443]
4[Option ID=36444]

Sl. No.90
QBID:2716353165

Given below are two statements:

Statement I:

Statement II:

1[Option ID=36445]
2[Option ID=36446]
3[Option ID=36447]
4[Option ID=36448]

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct

g g e 50 el sl e

.J},l_'J'I_‘.I.;MLﬂj_‘ )}.‘.5‘_’._/- jl

Sl. No.91
QBID:2716353166

Match List | with List Il

LISTI LIST IT
A ot Lo [Jxs
B. |t I |&
C. |ass s I |atjam
D | IV, |osk

Choose the correct answer from the options given below:
(1) A-IL B-IV, C-II, D-L

(2) A-L B-II, C-III, D-IV

(3) A-IV.B-III, C-II. D-I

(4) A-I B-III C-I. D-IV

1[Option ID=36449]

2[Option ID=36450]

3[Option ID=36451]
4[Option ID=36452]

Sl. No.92
QBID:2716353167

Match List | with List Il

LISTI LISTII
R L sl aviae Jaw
B | sl [T |ao=d ol
C. |psidl gl I |JLé e
D. | L V. | Ales L

Choose the correct answer from the options given below:
(1) A-L B-II, C-IL D-IV

(2) A-II B-III. C-IV. D-I

(3) A-IV.B-III C-II, D-L

(4) A-IL B-IV, C-I. D-II

1[Option ID=36453]

2[Option ID=36454]

3[Option ID=36455]
4[Option ID=36456]

Sl. No.93
QBID:2716353168




Match List | with List Il

LISTI LISTI
A [ g I S EXNRPES
B. |84 L [s3lea
C. [ I | el
D, |ouds o V. |culy Gola

(1) A-IL B-L. C-IV. D-II
(2) A-II. B-I. C-IV. D-III
(3) A-IV.B-III, C-I. D-II
(4) A-L. B-II. C-IIL. D-IV
1[Option ID=36457]
2[Option ID=36458]

3[Option ID=36459]
4[Option ID=36460]

Choose the correct answer from the options given below:

Sl. No.94
QBID:2716353169

Match List | with List Il

LISTI LIST IT
A Sl I VTR
B. |J# I [sbd e
C. |[oanad I |silps Bl
D. |ssda IV. |somsia

(1) A-II. B-III. C-IV. D-I
(2) A-IIL B-II. C-I. D-IV
(3) A-IV. B-III. C-1. D-II
(4) A-L. B-II. C-III. D-IV
1[Option ID=36461]
2[Option ID=36462]

3[Option ID=36463]
4[Option ID=36464]

Choose the correct answer from the options given below:

Sl. No.95
QBID:2716353170

Match List | with List Il

LISTI LISTII
A |ds dana L |ces®
B. | eebaisl Cpgm I s
C. |l (s 2ans I [Olss
D. [ o e V. [

(3)

1[Option ID=36469]
2[Option ID=36470]
3[Option ID=36471]
4[Option ID=36472]

Choose the correct answer from the options given below:
(1) A-L B-II, C-IIL D-IV
(2) A-II. B-III, C-IV, D-1
A-TII, B-II, C-1. D-IV
(4) A-l. B-II. C-IV. D-II

Sl. No.96
QBID:2716353171




Read the following passage and answer the Questions mentioned below:
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1[Option ID=36473]

2[Option ID=36474]

3[Option ID=36475]
4[Option ID=36476]
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Read the following passage and answer the Questions mentioned below:
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Read the following passage and answer the Questions mentioned below:
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Read the following passage and answer the Questions mentioned below:
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Read the following passage and answer the Questions mentioned below:
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